Z

E 0 & AFHE B M A

20149 = S0la LB H MSAL22

M MESAL22 L
X MSAME2et 23

el MSAES 22 (chel & 9l)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
M= A& 2ol 1,391,746 1,224,313 167,433
HMEAL2el 2 1,285,809 1,117,956 167,853
HMEAEES 22 916,309 861,956 54,353
HSAE 29 841,729 799,726 42,003
101 @124l 78,077 74,237 3,840
04 D12t 22 HEE = 78,077 74,237 3,840
OaU==gE otE)| Ad2RT 22 4,682
—Jlz2s3 46,8203 2 x50 4,682
ORLIIY, SLHUST HERY oz
40,7703 x5 H 32 x43] 2,447
OfF4 HUAZ KREFINE S3EHH ARY 28,953
—Jles 40,7703 *2H x254 20,712
— 2+AlH| 2,000 «2H 250 23] 2,000
-5 40,7703 «2H x522 4,241
— BE S| 200,000& x2H *23] 800
—wWEs2 X 50,000& «2H 128 1,200
O=sZis2 334 a2 14,477
—Jlas 40,7703 1 x254 10,356
— Z2HAY| 2,000 *1H %2502 23] 1,000
— ZE S| 200,000& x 1«23 400
- &5 40,7703 * 1«52 2,121
— WS Ll 50,0002 «1H x 128 600
Of=4 M2 MxzzY =2 (HUAE,
=" =R 40,7702 8% *32 *4 3| 3,914
ORF4 MATIEN ZIE HFZHA AR
0,7703 x6H 3L 43| 2,936
OII+=ZI&E Ex=HIAH =2
40,7703 3H «4L *33] 1,468
Of=4 HUAZ IX =< 19,200
—AsS 80,0003 *20H 12 «60% 11,520
—B= 80,0003 *20H 123 *40% 7,680
201 Let24E] 672,763 612,600 60,163
01 At 22l 43,826 43,826 0
Oget=&H| 43,826
—SXMs2 ot ===
23,0003 12 9,876
—SEZ0E ot =2
238,000 128 2,856
—MSAE(MsS, 22 & )gst2e
PR =2 650,000 128 7,800
—HSAME W =M AARASH ZEEIL
=2 200, 000& »7H 2 1,400




M MESAL22 L
X MSAME2et 23

el MSAES 22 (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
“SuAs® W)l ZOIEA 24
300,000& x13l 300
—Hs2, =g 2L HIHA =5 (28

3CH) 180,000& »3CH 13l 540

—Hs2 2de 4sZA =22(2€)
180,000& 20 13l 360
— 203 2922 2,952
AU+ FEZINE
90,0003 201 & x12& 2,160
CEEM GETII ARA
66,0003 x 101 2« 128 792
—AHUAYE 2 2HAN 222
16,000 * 122 192
—AUAEE YA® ¥ HAZYI HA
1,000, 000& *23| 2,000
—AUHZE FH3 HA 800,000 *23] 1,600
—25 ¢ 223F3x HA(MEH,=2E,Z

I, as"y) 30& *200,0004 6,000
—AUH=ZE UHSLMHI SR & A2F

- 900

ZEEN 25,0003 «3E 128 900
—HMSAE 22 FL (NS, Z2INE, I}
ASTE IEZIE) 500
WEHZ2, HUA S, 57 HHE0E)
100, 000& *5JH4 500
—Hs2 TAIA EZASAE ZIEA =
= 350,000& *12] 350
—JtAAZBAIE B3| 28T =2
1,000,000& *13] 1,000
—HALEH =2 400,000& *43| 1,600
—HAEE P (BEXES 108)
300,000& x12& 3,600
02 3323l 628,937 568,774 60,163
O3 & HA 215,060
—dJE(ds2, 9%, 2237/, 1238

& HIUAR, AEXEE D) 11,500,000 « 122 138,000
— & oxEE2(Hs2,+2E RLIAINE, I}

A=) 5,350,000& x12& 64,200
—SIMNERES 2,300,000& *23| 4,600
—35,28 s 3,510

Xt = XAl 65,0003 *3CH *23] 390
I B A2 25,0003 *3CH 23] 150
MAUABHE 330,000 *3CH*13] 990
EEEEE 660,000 *3CH*13] 1,980
—NERY FE3 4,400,000& *12] 4,400
— JbAAND HiA MY 282 50,0008 13 50
—RE= 200




M MESAL22 L
X MSAME2et 23

el MSALEE 2el
SA - ZE-B(EN) - NRAY - B S il &t o il
L2 HE 2403 *403| «12& 116
- SR 1,750 43| x12& 84
— Yot ate| g o3l 100, 000& =13 100
Ozl 315,764
—ds2 L =53 e 26,000,000 «12& 312,000
—dsa ¥ REFINE sHY S Y
400,000 501 & 2,000
— WA & H=HI 110,000*12& 1,320
—SEZIE L3t LPGItA 7Y
37,000 «12&+13] 444
OAEZHI S X 60,000
— 2= % JIAZEH KX
3,500,000& x12& 42,000
—REZJE 2 22
00,000,000 *3% 18,000
OXte & Bl 38,113
— ¢ ZHl 33,793
AEBHE 1,760& %2204 =128 4,647
- 34215 SEHA
1,760& %6904 =201 +12& 29,146
— Xt ==cldl 4,320
HAESXHE 60,0002 122 720
- 34015 SEHA 150,000& =2CH 12& 3,600
202 Oddl 1,589 1,589
01 =S LHA YI 1,589 1,589
OMSAIE Sd&X Al,=HS 264,800x3Y *23] 1,589
206 T 2 bl 39,300 39,300
01 =8l 39,300 39,300
OAU=+gE F2AE FL(LENSEHE)
400,000+ 128 4,800
OFYy HAAZ(H2H 2) 300,000 «12& 3,600
OXIIME FL(HEHE 2 78)
300,000& »12& 3,600
OSEI MEBAE L2 MExY S32E
- 13,000& 100 1,300
ONSAE &N & 5 3,100
—OIALE R (15EEY) 400, 000& =4 CH 1,600
— &7 500& *3,0000H 1,500
O=SXMsa 244 JIAH Mg 7¢ 1,500
—ZEAOX 2A 7E 1,500,000& 14 1,500
OHMSAE d5dll FMs2 2
30,0003 «30&H 63 5,400
O+=ZH HBHEALY MRAI 2L
30,000& =304 900




M MESAL22 L
X MSAME2et 23

Eel: MsAEE 2el (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OHILIAZ 22 28 +4 500,000& »12& 6,000
OHHLE A22E35 ¢ 2,400
— 2243 3.3kg 40,000 =30CH 1,200
— A5 A (40mm, 0l =S A) 25,0002 3074 750
—AaYSA 2E(40mm) 15,000 *30 K 450
ONSZ 298 SLIINE S&4 WP
ooz 2o 28) 500,000 *3IH £ 1,500
+9% ye®A8 324l BE 7
300,000 x2 = +24 E 1,200
OFFAHUAR DE 2A2lE LEIH(20kg) +
e 40,0003 *100 % 4,000
307 21201 A 50,000 44,000 6,000
05 RIZt2IE = 50,000 44,000 6,000
OR=s IAITH 219
50,000,000 » 14! 50,000
SEIIFNAEZ=SH0/ZHH 29 74,580 62,230 12,350
201 L2l 2,000 0 2,000
01 At 22l 2,000 0 2,000
OSZ2HAEZZ0IYME AHE ZEXY
ZHl edx=z 500,000 *43| 2,000
307 glz2tol & 58,230 58,230 0
05 RIZtE = 58,230 58,230 0
OSEIMAEZ=Se0IYME Q2AES
58,230,000& = 14! 58,230
401 A& HIZ 201 I 8,000 4,000 4,000
01 A& HI 8,000 4,000 4,000
SEIHAZZ22A0IYME AHY DR
=2 & XS A 8,000,000 =14 8,000
405 XHoHF S HI 6,350 0 6,350
01 et ESFH S 6,350 0 6,350
OSEZZNAZ=ScOIYHE LEHE Wit
6,350,000 = 1CH 6,350
HM=AlE Zbl 369,500 256,000 113,500
MEAE Jls 22 369,500 256,000 113,500
401 AIEHIZL 20 369,500 256,000 113,500
01 A& Hl 369,500 256,000 113,500
OMSsAIEgE AHAC 24 10,000,000%204 2 20,000
SEHIBUY HLXNLE X (FUEHAMA)
20,000,000& =14 20,000
ORFMHUAE SIEZE WHSA
150,000, 000& * 14! 150,000
OMLH4EE 2ola o A4 EY SLBA
20,000,000& =14 20,000




A MEAE 2B
X MSAME2et 23
el MEAE gl

SA - ZE-B(EN) - NRAY - B S il
Odli=88 28 @ H2Td B2
10,000, 000& 14 10,000
OaU==gEEge A8EE L Hiz2 DXHSA
7,000,000 » 14! 7,000
O+ JL=EZ 28 2 WHMBA
22,500,000 » 14! 22,500
OMSAE 2Mel & 2==74l
50,000,000& =14 50,000
OANHUAY L SEZA
10,000, 000& 14! 10,000
OMH£YY 0RI0] 2AZBE BLTA
20,000,000& » 14! 20,000
OSBHS2 29T HFBL o 4 Bh
20,000,000 =14 20,000
OCaU=gE FAHEIZ 4X SAM
20,000,000 = 14! 20,000
HE2AZH(MSAE2elt) 105,937 106, 357
A2 (MS AL 2elt) 27,384 27,384
lHA2IHI(MS AL 2 ) 27,384 27,384
jellals] 27,384 27,384
= 27,384 27,384
Osgz2=e=¥ 60,853 x 153 x30 27,384
e (MSAI& 22 a) 78,553 78,973
Jl2ZHl(MsAI&2e 1) 78,553 78,973
2 et A | 42,993 42,993
01 At 2t 2l 42,993 42,993
Oget=gHl 7,323
—JI=2 AR ESHI 100,000& 16X 1,600
—JI2&8 4223l 150,000& * 13l 150
—SAIISI2C(Ed) 350,000 *1CH*43] 1,400
—SAENFY 20,0003 x5t A« 123 1,200
— OB & BMARI2A(EURYS) 2,573
ZDelHEN 237,000 *3CH *33] 2,133
WAEY 110,000 = 1CH x4 3] 440
—gEN ARNSH(NSH, 2IIE)
50,000 *83| 400
o=zg=¢ 23,750
— 2, =3y 50,000% « 1 x4752 23,750
O= &l 10,920
—AUH=ZE MEIZRI AL
7,000& 2% «300 4,200
MUY GSH AR 0jAYl
7,0003 «16H 30 3,360




HsAL2tel

'_\: oHFIOOdjdH|(H|g}\|/\-IE|-E|

S o T o

I JI=2 3 (HSsAIL2te D)

iy

(o
SA BB (3H) - NRAY - B Ol At o gﬁ‘&i HRE2
—HSAE 2SU3I ‘3% %/\F-’E | EZ2004!H|
7,000& 16 33| x10& 3,360
O =ul 1,000
— &= 30,000& 10 300
— OtA 3 30,0009 10 300
—dHE3E= 100,000& «4H 400
202 o4 | 31,780 31,780 0
01 2L HI 31,780 31,780 0
OMESAYE JI2gas 20
20,0003 x16H »83| x12& 30,720
OMSAE JI=2g248 22 0|
264,800 2% 23| 1,060
203 R F&d| 3,780 4,200 AN420
04 EASHEIRFAH| 3,780 4,200 AN420
OMSAIE 22 350,000 122 *90% 3,780




